
MATH 1211 - Assignment 3

Due:  February 14
PART I (To be done by hand)

10.12(10.10),  10.24(10.22), 10.30(10.26),10.63(10.60).
PART II (To be done using MINITAB)

1. 10.36(10.34) , 10.74(10.70).
10.34(10.34)

MTB > Read c1 c2;

SUBC>   File"D:\Chap10\namegame.dat";

SUBC>   Decimal ".".

MTB > Oneway 'Percent' 'Game';

SUBC>   Fisher .0167.


1    Open the worksheet NAMEGAME

2    Choose Stat > ANOVA > One-Way.

3    In Response, enter Percent. In Factor, enter Game.

4    Click Comparisons. Check Fishers error rate

.0167. 

5    Click OK in each dialog box.

10.70(10.68)
Open the worksheet JEANS
1    Choose Stat > ANOVA > Two-Way.

2    In Response, enter the column containing the response variable.

3    In Row Factor, enter one of the factor level columns (block).

4    In Column Factor, enter the other factor level column.
5   Fit additive model: Check to fit a model without an interaction term.
6   If you like, use any dialog box options, then click OK.

 MTB > Twoway 'AbsRate' 'Week' 'Day';

SUBC>   Additive;

SUBC>   Means 'Week' 'Day'.

